03099-11_C MLEHREREE , CE K ARi2E K TR

7= miiEA

FmER
ALREREET L ENERTSERONERAMAERBS. FH
BERE 180° HEMMAED , At TUREHEMNE, VEBRFRRE
ERVE , REMHRERERS

R
- F 4§ 1.0503,
N Q| N MR R ETIH N B4,
RAL7021 RAL 2004 RAL 1021 RAL 3020 E jJ g*% 1 .431 OO

e e IR IERBHE R PA,
N N
s e s A&

BAEFMYNZRERELATE,
EEMHEEY K KITENZESIL,
EhaERE,
TR G IREE
- Bt RAL 7021
- @i RAL 2004
- AR ES RAL 1021
- R\ RAL 3020
- {E854 % RAL 6032
- RBEE RAL 5017
- % RAL 7035

Ly =N

FRAEF 180° BN EMHE A E,
kR 68 R IR,

B AR EE,

BEER .

EpRRA,

B4
& E X 2R 03099,
EfI# E 03099-50, 03099-60, 03099-61,

L1

—
\]\L &

|
<ol ||

w

=
D 5i
1

o

&
7 |
)
—
\X

Y/

- D2

© norelem www.norelem.com




03099-11_C MLEHREREE , CE K ARi2E K TR

03099-11-060410 C = RAL 7021 4 M10 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-0604101 C Ef RAL 7021 4 M10x1 10 39,5 26,3 20| 10,9 |49 6 1 8 14
03099-11-060510 C = RAL 7021 5 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,3 8 14
03099-11-0605101 C = RAL 7021 5 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-060610 C =& RAL 7021 6 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,8 8 14
03099-11-0606101 C = RAL 7021 6 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-060512 Cc E & RAL 7021 5 M12 12 48,4 | 31,1 (25| 12,9 |57 |8 1,3 8 15
03099-11-0605121 C = RAL 7021 5| M12x1,5 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-060612 C = RAL 7021 6 M12 12 48,4 | 31,1 (25| 12,9 |57 | 8 1,8 8 15
03099-11-0606121 C =& RAL 7021 6| M12x1,56 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-060812 C = RAL 7021 8 M12 12 48,4 | 31,1 |25/ 12,9 |57 | 8 2,3 8 15
03099-11-0608121 Cc = RAL 7021 8| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-060616 C = RAL 7021 6 M16 16 62,3 | 41,5 (32| 166 | 7 |10) 1,8 15 35
03099-11-0606161 C = RAL 7021 6| M16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 1,8 15 35
03099-11-060816 C =& RAL 7021 8 M16 16 62,3 41532/ 166 | 7 (10| 23 15 35
03099-11-0608161 C = RAL 7021 8| Mi16x1,56 |16 623|415 32| 166 | 7 |10| 23 15 35
03099-11-061016 C = RAL 7021 10 M16 16 62,3 | 41,5 (32| 166 | 7 |10, 2,8 15 35
03099-11-0610161 C = RAL 7021 10| M16x1,56 |16 62,3 | 415 32| 166 | 7 |10| 2,8 15 35
03099-11-060820 C = RAL 7021 8 M20 20 72,3 |51,3|35|/20,5 (85|12] 23 20 60
03099-11-0608201 C 2 RAL 7021 8| M20x1,5 |20 72,3 |51,3|35/ 2058512 23 20 60
03099-11-061020 C = RAL 7021 10 M20 20 72,3 |51,3|35|/205 |85|12] 28 20 60
03099-11-0610201 Cc = RAL 7021 10| M20x1,5 |20 723|513 |35/ 205 (85|12 28 20 60
03099-11-061220 C =& RAL 7021 12 M20 20 72,3 |51,3|35|20,5 |85 |12 3 20 60
03099-11-0612201 C = RAL 7021 12| M20x1,5 |20 72,3 | 51,3 |35| 20,5 |8,5|12 3 20 60
03099-11-0604102 C B RAL 2004 4 M10 10 39,5 26,3 20| 10,9 |49 6 1 8 14
03099-11-06041012 C & RAL 2004 4 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1 8 14
03099-11-0605102 Cc & RAL 2004 5 M10 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-06051012 C & RAL 2004 5 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1,3 8 14
03099-11-0606102 C & & RAL 2004 6 M10 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-06061012 Cc & RAL 2004 6 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-0605122 C & RAL 2004 5 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06051212 C & & RAL 2004 5| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-0606122 C & RAL 2004 6 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06061212 Cc & RAL 2004 6| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-0608122 Cc & RAL 2004 8 M12 12 48,4 | 31,1 (25| 12,9 |57 |8 2,3 8 15
03099-11-06081212 C & RAL 2004 8| M12x1,5 |12 48,4 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-0606162 C & & RAL 2004 6 M16 16 62,3 | 41,5 32| 166 | 7 |10, 1,8 15 35
03099-11-06061612 C & RAL 2004 6| M16x1,5 |16 62,3 |415 |32/ 166 | 7 (10| 18 15 35
03099-11-0608162 C & RAL 2004 8 M16 16 62,3 | 41,5 32| 166 | 7 |10) 23 15 35
03099-11-06081612 Cc & RAL 2004 8| Mi16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 23 15 35
03099-11-0610162 C & RAL 2004 10 M16 16 62,3 | 415 (32| 166 | 7 |10) 28 15 35
03099-11-06101612 C & RAL 2004 10| M16x1,5 |16 62,3 | 415 32| 166 | 7 [10| 28 15 35
03099-11-0608202 C & RAL 2004 8 M20 20 723|513 |35/ 205 |85|12| 23 20 60
03099-11-06082012 C & RAL 2004 8| M20x1,5 |20 723|513 35| 205 (85|12 23 20 60
03099-11-0610202 Cc & & RAL 2004 10 M20 20 72,3 |51,3|35/20,5(85|12] 28 20 60
03099-11-06102012 C & RAL 2004 10| M20x1,5 |20 723|513 35| 205 (85|12 2,8 20 60
03099-11-0612202 C & RAL 2004 12 M20 20 72,3 |51,3|35|20,5 |85 |12 3 20 60
03099-11-06122012 C & RAL 2004 12| M20x1,5 |20 72,3 | 51,3 35| 20,5 85|12 3 20 60
03099-11-06041016 C #HE RAL 1021 4 M10 10 39,5 26,3 |20| 10,9 |49 |6 1 8 14
03099-11-060410116 C #HE RAL 1021 4 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-06051016 C HE RAL 1021 5 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,3 8 14
03099-11-060510116 C #HE RAL 1021 5 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-06061016 C #HE RAL 1021 6 M10 10 39,5 26,3 20| 10,9 |49 6 1,8 8 14
03099-11-060610116 C #HE RAL 1021 6 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1,8 8 14
03099-11-06051216 C #HE RAL 1021 5 M12 12 484 | 31,1 (25| 12,9 |57 | 8 1,3 8 15
03099-11-060512116 C HE RAL 1021 5| M12x1,56 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06061216 C #E RAL 1021 6 M12 12 48,4 | 31,1 |25/ 12,9 |57 | 8 1,8 8 15
03099-11-060612116 C #HE RAL 1021 6| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06081216 C #HE RAL 1021 8 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-060812116 C #HE RAL 1021 8| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-06061616 C HE RAL 1021 6 M16 16 62,3 |415 |32/ 166 | 7 (10| 18 15 35
03099-11-060616116 C #HE RAL 1021 6| M16x1,5 |16 623|415 32| 166 | 7 |10| 1,8 15 35
03099-11-06081616 C #HE RAL 1021 8 M16 16 62,3 | 41,5 32| 166 | 7 |10, 23 15 35
03099-11-060816116 C #HE RAL 1021 8| Mi6x1,6 |16 623|415 132|166 | 7 |[10| 23 15 35

© norelem www.norelem.com



03099-11_C MLEHREREE , CE K ARi2E K TR

03099-11-06101616 C #HE RAL 1021 10 M16 16 62,3 | 41,5 32| 166 | 7 |10, 2,8 15 35
03099-11-061016116 C #HE RAL 1021 10| M16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 2,8 15 35
03099-11-06082016 C #HE RAL 1021 8 M20 20 72,3 |51,3|35|/20,5 |85|12] 23 20 60
03099-11-060820116 C #HE RAL 1021 8| M20x1,5 |20 723|513 35205 (85|12 23 20 60
03099-11-06102016 C #HE RAL 1021 10 M20 20 72,3 |51,3|35|/20,5|85|12] 28 20 60
03099-11-061020116 C #HE RAL 1021 10| M20x1,5 |20 723|513 35| 205 (85|12 28 20 60
03099-11-06122016 C #HE RAL 1021 12 M20 20 72,3 |51,3|35|20,5 |85 |12 3 20 60
03099-11-061220116 C #HE RAL 1021 12| M20x1,5 |20 72,3 | 51,3 |35| 20,5 |8,5|12 3 20 60
03099-11-06041084 C 416 RAL 3020 4 M10 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-060410184 C 4168 RAL 3020 4 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1 8 14
03099-11-06051084 C 416 RAL 3020 5 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,3 8 14
03099-11-060510184 Cc 4168 RAL 3020 5 M10x1 10 39,5 26,3 (20| 10,9 |49 6 1,3 8 14
03099-11-06061084 C 416 RAL 3020 6 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,8 8 14
03099-11-060610184 C 416 RAL 3020 6 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-06051284 C 4168 RAL 3020 5 M12 12 48,4 | 31,1125/ 129|578 1,3 8 15
03099-11-060512184 C 416 RAL 3020 5| M12x1,5 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06061284 Cc 416 RAL 3020 6 M12 12 484 | 31,1 (25| 12,9 |57 |8 1,8 8 15
03099-11-060612184 C 416 RAL 3020 6| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06081284 C 416 RAL 3020 8 M12 12 48,4 | 31,1 (25| 12,9 |57 | 8 2,3 8 15
03099-11-060812184 C 4168 RAL 3020 8| M12x1,5 |12 484 |31,1|25/ 129 |57 |8 2,3 8 15
03099-11-06061684 C 416 RAL 3020 6 M16 16 62,3 | 41,5 32| 166 | 7 |10) 1,8 15 35
03099-11-060616184 Cc 416 RAL 3020 6| M16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 1,8 15 35
03099-11-06081684 C 416 RAL 3020 8 M16 16 62,3 | 41,5 (32| 166 | 7 |10) 23 15 35
03099-11-060816184 C 416 RAL 3020 8| M16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 23 15 35
03099-11-06101684 Cc 4168 RAL 3020 |10 M16 16 62,3 | 41,5 32| 166 | 7 |10, 2,8 15 35
03099-11-061016184 C I RAL3020 [10| M16x1,5 |16 62,3 | 415(32| 166 | 7 10| 2,8 15 35
03099-11-06082084 Cc 416 RAL 3020 8 M20 20 72,3 |51,3|35/20,5|85|12] 23 20 60
03099-11-060820184 C 416 RAL 3020 8| M20x1,5 |20 723|513 35| 205 (85|12 23 20 60
03099-11-06102084 C 41 RAL 3020 |10 M20 20 72,3 |51,3|35(/20,5|85|12] 28 20 60
03099-11-061020184 Cc 416 RAL3020 |10 M20x1,5 |20 72,3 |51,3|35| 20,5 |85(12| 2,8 20 60
03099-11-06122084 C I8 RAL3020 |12 M20 20 72,3 |51,3|35|20,5 |85 |12 3 20 60
03099-11-061220184 Cc I8 RAL3020 (12| M20x1,5 [20 72,3 | 51,3 |35] 20,5 |8,5|12 3 20 60
03099-11-06041086 C s RAL 6032 4 M10 10 39,5 26,3 |20| 10,9 |49 |6 1 8 14
03099-11-060410186 Cc X RAL 6032 4 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-06051086 C s RAL 6032 5 M10 10 39,5 26,3 20| 10,9 |49 6 1,3 8 14
03099-11-060510186 C X RAL 6032 5 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1,3 8 14
03099-11-06061086 C IX& RAL 6032 6 M10 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-060610186 C & RAL 6032 6 M10x1 10 39,526,320/ 109 496 1,8 8 14
03099-11-06051286 C X RAL 6032 5 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-060512186 C X RAL 6032 5| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06061286 C X RAL 6032 6 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-060612186 C X RAL 6032 6| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06081286 C s RAL 6032 8 M12 12 48,4 | 31,125/ 129|578 2,3 8 15
03099-11-060812186 C X RAL 6032 8| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-06061686 C IX& RAL 6032 6 M16 16 62,3 | 41,5 32| 166 | 7 |10, 1,8 15 35
03099-11-060616186 C & RAL 6032 6| Mi6x1,5 |16 623|415 132|166 | 7 |10| 1,8 15 35
03099-11-06081686 C JX& RAL 6032 8 M16 16 62,3 | 41,5 32| 166 | 7 {10, 23 15 35
03099-11-060816186 C s RAL 6032 8| M16x1,5 |16 62,3 |415 |32/ 166 | 7 (10| 23 15 35
03099-11-06101686 C e RAL6032 |10 M16 16 62,3 | 41,5 (32| 166 | 7 |10| 28 15 35
03099-11-061016186 C X RAL6032 |10 M16x1,5 |16 62,3 |41,5|32| 16,6 | 7 [10| 2,8 15 35
03099-11-06082086 C s RAL 6032 8 M20 20 72,3 |51,3|35|/20,5 |85|12] 23 20 60
03099-11-060820186 C X RAL 6032 8| M20x1,5 |20 723|513 35205 (85|12 23 20 60
03099-11-06102086 C e RAL 6032 |10 M20 20 72,3 |51,3|35/20,5(85|12] 28 20 60
03099-11-061020186 C s RAL6032 10| M20x1,5 |20 72,3|51,3|35|205 (8512 28 20 60
03099-11-06122086 C & RAL6032 |12 M20 20 72,3 |51,3|35|/205 |85 |12 3 20 60
03099-11-061220186 C i RAL6032 |12 M20x1,5 |20 72,3 | 51,3 |35/ 205 |8,5|12 3 20 60
03099-11-06041087 C E® RAL 5017 4 M10 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-060410187 Cc ¥ RAL 5017 4 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-06051087 C E® RAL 5017 5 M10 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-060510187 C ¥ RAL 5017 5 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-06061087 C E® RAL 5017 6 M10 10 39,526,320/ 109 496 1,8 8 14
03099-11-060610187 C E® RAL 5017 6 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1,8 8 14
03099-11-06051287 Cc ¥ RAL 5017 5 M12 12 48,4 | 31,1 (25| 12,9 |57 |8 1,3 8 15
03099-11-060512187 C E® RAL 5017 5| M12x1,5 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15

© norelem www.norelem.com



03099-11_C MLEHREREE , CE K ARi2E K TR

03099-11-06061287 C # & RAL 5017 6 M12 12 484 | 31,1 (25| 12,9 |57 |8 1,8 8 15
03099-11-060612187 Cc B RAL 5017 6| M12x1,5 |12 48,4 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06081287 C ¥ RAL 5017 8 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-060812187 C & RAL 5017 8| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-06061687 C ¥ RAL 5017 6 M16 16 62,3 | 41,5 (32| 166 | 7 |10) 1,8 15 35
03099-11-060616187 C & RAL 5017 6| M16x1,5 |16 62,3 | 41532/ 166 | 7 [10| 1,8 15 35
03099-11-06081687 Cc B RAL 5017 8 M16 16 62,3 | 41,5 32| 166 | 7 |10, 23 15 35
03099-11-060816187 C ¥ RAL 5017 8| Mi16x1,56 |16 623|415 132|166 | 7 |10| 23 15 35
03099-11-06101687 C #® RAL5017 |10 M16 16 62,3 | 41,5 32| 166 | 7 |10, 2,8 15 35
03099-11-061016187 C % RAL5017  [10| M16x1,5 |16 62,3415 |32|166 | 7 [10| 28 15 35
03099-11-06082087 C ¥ RAL 5017 8 M20 20 72,3 |51,3|35|/20,5 |85|12] 23 20 60
03099-11-060820187 Cc & RAL 5017 8| M20x1,5 |20 723|513 35205 (85|12 23 20 60
03099-11-06102087 C %/ RAL5017 |10 M20 20 72,3 |51,3|35|/20,5 |85|12] 28 20 60
03099-11-061020187 C #® RAL5017  [10| M20x1,5 |20 72,3 |51,3 |35/ 20,5 (8512 28 20 60
03099-11-06122087 C ¥/ RAL5017 |12 M20 20 72,3513 35| 20,5 (85|12 3 20 60
03099-11-061220187 C ¥ RAL5017 |12 M20x1,5 |20 72,3 | 51,3 |35/ 20,5 |8,5|12 3 20 60
03099-11-06041088 C X RAL 7035 4 M10 10 39,5 26,3 20| 10,9 |49 |6 1 8 14
03099-11-060410188 C X RAL 7035 4 M10x1 10 39,5 26,3 |20| 10,9 |49 |6 1 8 14
03099-11-06051088 C JX& RAL 7035 5 M10 10 39,5 26,3 20| 10,9 |49 |6 1,3 8 14
03099-11-060510188 C i RAL 7035 5 M10x1 10 39,526,320/ 109|496 1,3 8 14
03099-11-06061088 C & RAL 7035 6 M10 10 39,5 26,3 |20| 10,9 |49 |6 1,8 8 14
03099-11-060610188 C IX& RAL 7035 6 M10x1 10 39,5 26,3 20| 10,9 |49 |6 1,8 8 14
03099-11-06051288 C X RAL 7035 5 M12 12 48,4 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-060512188 C X RAL 7035 5| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06061288 C i RAL 7035 6 M12 12 48,4 | 31,1 (25| 12,9 |57 |8 1,8 8 15
03099-11-060612188 C s RAL 7035 6| M12x1,5 |12 484 | 31,1 |25/ 12,9 |57 |8 1,8 8 15
03099-11-06081288 C IX& RAL 7035 8 M12 12 48,4 | 31,1 (25| 12,9 |57 |8 2,3 8 15
03099-11-060812188 C X RAL 7035 8| M12x1,56 |12 48,4 | 31,1 |25/ 12,9 |57 |8 2,3 8 15
03099-11-06061688 C X RAL 7035 6 M16 16 62,3 | 41,5 32| 166 | 7 |10, 1,8 15 35
03099-11-060616188 C & RAL 7035 6| M16x1,5 |16 62,3 | 41532/ 166| 7 [10| 1,8 15 35
03099-11-06081688 C X RAL 7035 8 M16 16 62,3 | 41,5 32| 166 | 7 |10) 23 15 35
03099-11-060816188 C IX& RAL 7035 8| Mi16x1,5 |16 623|415 32/ 166 | 7 [10| 23 15 35
03099-11-06101688 C e RAL 7035 |10 M16 16 62,3 | 41,5 (32| 166 | 7 |10| 2,8 15 35
03099-11-061016188 Cc i RAL7035 |10 M16x1,5 |16 62,3 |41,5|32| 166 | 7 [10| 28 15 35
03099-11-06082088 C i RAL 7035 8 M20 20 72,3 |51,3|35/20,5(85|12] 23 20 60
03099-11-060820188 C X RAL 7035 8| M20x1,5 |20 723|513 35| 205 (85|12 23 20 60
03099-11-06102088 C & RAL 7035 |10 M20 20 72,3 |51,3|35|/20,5|85|12] 28 20 60
03099-11-061020188 C i RAL7035 [10| M20x1,5 |20 72,3 |51,3|35| 205 [85/(12| 28 20 60
03099-11-06122088 C e RAL7035 |12 M20 20 72,3 |51,3|35|20,5 |85 |12 3 20 60
03099-11-061220188 C X RAL7035 |12 M20x1,5 |20 72,3 | 51,3 |35/ 20,5 |8,5|12 3 20 60

© norelem www.norelem.com



